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ESiERLY FEh &R (Ba/kg)

NO Eth we | maee | weg | PRES = iy ] BB GoE | BRR ER | | wokoise| woiee
1| RBBE=ARIVY | (BEBR) | BER A FERER — ERER Y [REL EEREF N 4—BEXR Ge H24.2.6 H24.2.6 <66 <82 <90
2 | BRRE=SULY | BER) | BER rEM FERER — ERER 3 [FEL EEREF N 4—BEXR Ge H24.2.6 H24.2.6 <49 <83 <80
3 | BRRE=SULY | BER) | BER INEFET FETRIE & — ERER Y [FEL EEREF N 4—BEXR Ge H24.2.6 H24.2.6 <13 <12 <92
4 | BRRE=SULY | BER) | BER SRIBHFS FERER — ERER 3 [FEL EEREF N 4—BEXR Ge H24.2.6 H24.2.6 <61 <90 <718
5 | RABE=4JLY | BBR) | =ER rET FRER — ERER 3 [REL EEREF N 4—BEXR Ge H24.2.6 H24.2.6 <70 <91 <67
6 | BRRE=4ULY | BER) | BER | *FRTH | ERESR — ERETR 3 [FEL EEREF N 4—BEXR Ge H24.2.7 H24.2.7 <74 <97 <94
1 | REABE=4ULY | BEBR) | =ER SIEAT | FRBES — ERER Y [REL EEREF N 4—BEXR Ge H24.2.7 H24.2.7 <15 <93 <92
8 | BRRE=4ULY | BER) | BER BEm FERE R — ERER Y [REL EEREF N 4—BEXR Ge H24.2.7 H24.2.7 <65 <86 <69
9 | REABE=4JILY | BEBR) | =ER WhET | FERER — ERE R [FEL EEREF N 4—BEXR Ge H24.2.7 H24.2.7 <69 <99 <84
10 | REBFE=4JLY | BEBR) | &=ER rEM FERER — ERER Y [FEL EEREF N 4—BEXR Ge H24.2.7 H24.2.7 <63 <94 <64




